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Chains

40,00}

80.00
119.84

120.00

149,98

‘West,  along 8. bdyi sec. 35

#2091 bdy. sec. W

"West, on same line_ W1th contanuous siegeurenent along

- The bearing*of~this.miIthherefOre‘iS-N.189°.1ét W., and

“From the standard ¢ sec.icor.

aTheUbearing~ofﬁthisfhalf‘milé:théreforeﬂis s.~$7am5$r-w.
and'the  distance 38,15 chs., °

From the standard % seci cory "o

‘Find no’ trace: of standard cor, of secs. 34 and 35

West, on:. same:line, with continuous measurement along

Find no: trace ofv the closing cor. of T.:10:Ni, Re. 33
and 34°E.

Find no trace of the standard & sec..cor.

Find no trace of the closing cor. of secs._l Band. 2, Ts
107Ny BL 33 B ¢ OHOIA

Find no trace of standard cor.vof secs. 33 and 34

2

B bdy.‘sec. 33

_Fall e Ol chs. N. of the standard sec. cor., hereinafts

X

described _

The bearing of these two miles therefore is S. 89° 14 W
and the distance 150 00 chs. :

From i standard + sec. cor.

West, along S bdy. sec.v33

Find no trace”pf sténdard COX. of secs. 32 and 33

Wésﬁ,nontsame iine,ewdthceontannous measurement aleng
B¢ bdy.nse¢o 32

Find no trace of the 01081nv cor. of secs. 2 and 55 Ta
10 N., R. 33 E.. =

Fall 1.12 chs. S. of the standard ¥ sec. cor., hereinaft

described i 098 YDG [y A8

the distance 80.33 chs. = S - QN

3]
H

'3

er




